[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04

0.03
0.02
(0NN S EET T EEEEERET R ERRETEEY EEREA Tl SECTELTE
E ++ T
Y | I Y IR B A 1| B
= r H4
o [ :
1l B PEEN R S S e T
095- : k3 1 A :

1072 10 1 10 0?
TP vertr (cr%)

—— DQM_V0001_R000000001__Global_CKF_RECO
Efficiend —— DQM_V0001_R000000001_Global _mKFitl RECO

—+— DOM_VO0001_R000000001__Global _mkFit2__RECO
~ 0.5

L H A S S S

o F . : : . :
L S e S SR
> F : : : : :
2 E : : : : :
TRy T S S S
[3} o : : : :
£ 0.3F bt
] o : ! : :
O SRRt SR S I S
RS TR RO S S
T e SRS SR SRS S

........ e

0.0 --oemeeee '

10 S -E-*—ﬁMtgm-

3 i i i i
.9 J—-\'C_ 1111 + 1111 t 111 1 + 11 t
T r i
o L :
| -1
0'95- . : d : .
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

> F
2 0.09F
E 4 oaf1

50.08
20.07
o)
20.06,
@
(&}
£0.05
()
0.04
0.03
0.02
0.01

Ratio

10 15 20
Sim. PV z (cm)

|

(L.

(@]

o CECEEE
o

[(6)]



	Contents
	Page 1


